# Construction division. Advice for giving credit to contractors/suppliers.

SL 1	Vo. – site bills	T			Date	- site bi	11_	1	
regi	ster				Regi		118	191:	2 2023
	pany Name:	1	ORM L	D	Site:				_
Nan	ne of Contractor	1				-		Gr	vK
Nati	ire of work	1	1. Marsi	3	700	•	•		-
Wor	k done	Fr	on Date	Camp	und ,	ray, Mar	Date	refor 1	al feverting
31.	Villa/Flat/block n	(		107	1066	023	Date	1210	8/2023
No.			Qty.	Rate	•	Units	Amou	ınt	Contractors
1.	Most soud comport	und	771.00	5.0		SAA	7 0		bill no
2,	1 tags storms to che	May	3.361-00	5.		5.27	I	55.00	
3.	I now respirite		1,226.00		.75			308-1n	
4.	Amphited dis	,	3,075.00			34+		88.RF	
<b>5</b> .	Missifes sound for	they.	434.00	6.		5-27		08-13	
6.	2		734.00	1.	75	34+	75	9.50	
7.							-		
8.					/-				
9.				-/					
10.	(	1							
11.	T	otal:						(0)	
Bill 1	required	ΟY	ES MNO.		GST	bill requir	50,0		7770
	turement &	V R	equired			urement &		O YES V	1
	ate sheet:		ot required			ate sheet:	*	☐ Enclos	
PO/V	VO no.				The state of the s	O date:		□ Not en	Closed
Rem	arks:								
			_						
		-							
-				-	-				
A		-	•						
	oved by Project Mar	-	r Appro	ved by	Desig	n Team	Appr	roved by	M.D.
Date:	MINO	>	Date:				Date	The state of the s	
Sign:		1	Sign:				Sign		
Notes:	1. This advice must be see		hin 7 days of	-	-		7.50	•	1

for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

		and the state of t	Committee of the committee committee of the committee of	The state of the s	The state of the s	and the second s	The state of the s			5					4			C.						and the second s		•				-	3	2		Date:	Prepared By:	Contractor:	Work Description:	Project:	Company Name:	Lande Limited
							Deductions			Visitors room					Amphitheatre			Divider wall painting							transformer to clubbouse	W			to G-block	North peripheral road from F- block	TICHE INCAL	The Board		18-12-2023	V.Sanketh	M.Narsing rao	North, west driveway, amphitheatre wall painting	Gulmohar Residency	MRMallapurLLP	Speci
		Ceiling					doors windows openings deductions		(primer+ 2 coats)	Visitors room @ main gate security	near tiles store	Open to sky walls painting	Columns painting at A block	(primer+ 2 coats) tiles store	Ampultaceure walls painting		painting (primer+ 2 coats)	Divider wall near F-block			wall painting (2 coats)	3 sides	0.00		wall painting (2 coats)		Columns primer 3 sides	Term Description	The Description					wall painting						
	and the same of th	73.00		1.00	1.00		1.00		41.00	y 32.00		30.30	4.50	23.00	22.00	63 00		223.00		65.66	91.66	153.50	57.00	79.00	2.23	3,32		150.00	54.00	3.00	rengui	A								
		2.00		3.75	6.00	6.00	5.00		1.00	1.00		1.00	1.00	1.00	1.00	3		1.00		1.00	1.00	1.00	1.00	1.00	1.00	3		1.00	1.00	1.00		¥ 5	1					Sign:	Approved by:	and contributions of the sample of the sampl
		1.00		4.00	7.00	4.00	7.00		9.00	9.00		17.00	13.30	13.00	3.00	8		5.50		4.83	5.33	7.66	9.00	8.00	0.50	6				6.00	Trefficial	Halake	)							
		1.00		3.00	2.00	1.00	2.00		1.00	1.00		1.00	28.00	00.1	1.00	3		1.00	3	1.00	1.00	1.00	1.00	1.00	13.00	1000		1.00	1.00	18.00	1100	5 -	,						Ahmed Khan	
		146.00		45.00	84.00	24.00	70.00		369.00	288.00		02.020	1/01.00	299.00	200.00	177 00		06.9771		317.14	488.55	1175.81	513.00	632.00	233.13	726 12		150.00	297.00	324.00	Quantity	Duantity								
		sft		sft					sft			SIL			T			ns		sft		sft				3			sft	sft	Catalog	linita								
-	434.00		223.00					657.00			3,097.50								3,361.62								771.00													

ESTIMATE SHEET	7					AL Vhan
Company Name:	MRMallapurLLP			Approved by:	by:	Anmed Knan
Project:	Gulmohar Residency			Sign:		
Work Description:	North, west driveway, amphitheatre wall painting	all painting				
Contractor:	M.Narsing rao					
Prepared By:	V.Sanketh					
Date:	18-12-2023					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
-	North peripheral road from F-block	Columns 3 sides & wall (2 coats) painting	771.00	sft	5.00	3,855.00
	to G-block					
2	Western compound wall from	Columns & wall painting	3,361.62	sft	5.00	16,808.10
	transformer to clubhouse	(2 coats)	,			
w	Divider wall painting	Divider wall near F-block	1,226.50	sft	6.75	8,278.88
		painting (primer+ 2 coats)				
4	Amphitheatre	Amphitheatre walls painting	3,097.50	sft	6.75	20,908.13
		(primer+ 2 coats) tiles store				
		Columns painting at A block				
		Open to sky walls painting				
		near tiles store				
				,		350 50
5	Visitors room	Visitors room @ main gate security	434.00	sft	1.75	759.50
		(primer+ 2 coats)				
						50,609.60

#### **Allowance for Consumables**

### M.Narsing rao

Mallapur Hyderabad

Date: 18.12.2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

North, west side compound wall painting works.

Towards:

Bill for consumables.

S No.	Description	Amount
1.	Brief description of work done: North, west side compound wall painting works.  Total Amount = 50,609 /- Work done from date 07.06.2023 to date 12.08.2023	Rs. 10,121 /-

Amount in words: Ten thousand one hundred and twenty one Rupees Only.

# Allowance for Equipment

# M.Narsing rao

Mallapur Hyderabad

Date: 18.12.2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

North, west side compound wall painting works.

Towards:

Bill for equipment.

S No.	Description	Amount
1.	Brief description of work done: North, west side compound wall painting works.  Total Amount = 50,609 /-	Rs. 20,243 /-
	Work done from date 07.06.2023 to date 12.08.2023	

Amount in words: Twenty thousand two hundred and forty three Rupees Only.

Sign:
-------

# Allowance for Labour charges

# M.Narsing rao

Mallapur Hyderabad

Date: 18.12.2023

In favor of:

MR Mallapur LLP

Project / Site: Location:

Gulmohar Residency

Type of Work:

Mallapur North, west side compound wall painting works.

Towards:

Bill for Labour charges.

S No.	Description	Amount
1.	Brief description of work done: North, west side compound wall painting works.	Rs. 20,243 /-
	Total Amount = 50,609 /- Work done from date 07.06.2023 to date 12.08.2023	

Amount in words: Twenty thousand two hundred and forty three Rupees Only.

Sign:	
•	